8.11 Applications/Practice

he Lable shows the approximate measurements of the Great Pyramid of Giza
Egypt and the Pyramid of Kukulcan in Mexico,

Pyramid Height Area of Base
(meters) | (square meters)
Great Pyramid of Giza 147 52,900
Pyramid of Kukuican 30 3,025

Approximately what Is the difference between the volume of the Great
Pyramid of Giza and the volume of the Pyramid of Kukuican?
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,562,000 cublc meters
C. 5,835,000 cubic meters
D. 7,686,000 cubic meters
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In the cylindrical tube shown above,
the height of the tube is 30 & the
circumference of the circular base is
32. What is the volume of the

cylinder?
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Assume all angles are nght angles. What is the area of the figure?

12m

8m

10 m

%t m 12m

h p
a. [336 square meters
=
O 360 square meters

d 102 square meters

12m

40R square meters

192 +12 + L=

Two cylinders each with a height of 50 inches are shown.

Which statements about cylinders P and S are true?
Select all that apply.

A. If x = y, the volume of cylinder P is greater than the volume of
cylinder S, because cylinder P Is a right cylinder,

If x =y, the volume of cylinder P is equal to the volume of cylinder S,
because the cylinders are the same height.

C. Il x = y, the volume of cylinder P Is less than the volume of cylinder S,
because cylinder S is slanted.

D. If x < y, the area of a horizontal cross section of cylinder P is greater

than the area of a horizontal cross section of cylinder S.

E. If x < y, the area of a horizontal cross section of éyﬂnder P is equal to
the area of a horizontal cross section of cylinder S.

If x < y, the area of a horizontal cross section of cylinder P is less than
the area of a horizontal cross section of cylinder S.

Find the volume of the prism below:
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D) 200 units?
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©E the circumference of the base part of cone 1s

10 centimeters (cm) and the height of the cone
is 8 cm, what is the volume of the cone, to the

nearest cubic centimeter? .-_L 1
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8.11 Applications/Practice

*he figure above shows a pyrauud with regular
hexagonal base. The length of each side of the

Find the area of a regular hexagon with side length 4 m.
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hexagonal face is 4 units and the height of the apilher
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@) A square pyranud and a cube have equal volumes.
The cube has an edge length of 4 inches and the
pyramid has a base side lenpth of 6 inches. What
15 the height of the pyraimd mn mches?
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Find the volume of the figure below. Round to the nearest square centimeter.
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Cylinder I Cyhnder It

g 0%

Circumference = 50 Crraumference = 36

The figure above shows two cylmders that are
rolled up from a poster 36 centimeter (cm) wade
and 50 cm long without overlap. For cylinder I,
the height 1s 36 cm and the circumference of the
base 1s 50 cm. For cylinder IT, the height is 50 cm
and the circumference of the base is 36 cm. Which
of the following is closest to the difference of
volume between the fwo cylinders. in cubic
cenfimeters?

A) 1,600
B) 1,800

O

D) 2,200

Rebecea 1s loading medical supply boxes into a crate. Each supply box is 1.5 feet tall, 1 foot wide. and 2

feer deep. The crate is 9 feet lugh, 10 feet wide, and 10 feet deep.
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What 15 the maxinun number of supply boxes can she pack in this crate?

a. 200

@ 300

c. 450

d 600

oUWy OF
Crates |l

10109 * Q0

Box: vl
IS.1:2:=1%

2 * Boo

\= 'rrr‘(-k-)‘

}}_ﬁ:
27)
®




